spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

80

Mean Spectrum

Continuum Lightcurve
med(mad)%
T T

f) (10717 erg em™2s7'87")

F L — T 1]
3 Ac(28178) —1.2(5.3)% S/N 59 I

A (&) z = 1.16276

RMS Spectrum

MJD — 2450000

BLR Lightcurve

raw

—cont

RMSx

S/N BLR —6.1 MglI 24 CII] 16 |

“? &y 1 BLR
2000 3000 4000 7000 7500 8000 8500 9000
A (B) z = 1.16276 MJD — 2450000
x(\t) = ( Data — Model ACsBsF ) / o x Phot Corrections
X/ (413460—5149)=0.885=>1.007 rm174 med(mad)% Ap 1
A A Ay L R PN AR R 1 T T T T T T T T T T T T T T T T T T T T T T T]

R

i

g M o AR MR At b AT (A
A S A AR R

1.2

Ap 100.00(91)% S/N —9.0 J
Prior(Ap) 5.0 %

7500 8000

MJD — 2450000

u = 0.0139(75) x = 0.907(20) => 0.907(20)

med(mad)

T I
SR e i R s A R A T R At fid
st N RO AN A A S e i
3 it e R G SR L i) -
T A R T AR A
R APt T R
i T R R L gty gkt N O O st b L
R R R
g T AT PR o S T
I A R e O R AR R
P e e W R
T S A T R R R R T T -
MR TR e R R e I
o Bl R R A “‘j\.“‘y“"‘w\mlw‘l‘ "g‘\“ e AR ‘]“,‘u‘;‘w}‘;‘v‘v H"\“hm\“‘ WA
& Fy e s R L T LT
Tt T g Wi 0 AT Ut e A o
sl e TR b i ‘ I
IR M G b T R A
S T
2000 3000 4000 o500
bad:2220=0.54% A (R) z = 1.16276
4 = 0.015(18) x = 0.912(73) => 0.912(73)
rm174 med(mad) AC,BF rm174
T _I'__I:_ I T T T T I T T T T I T I:I:I: II;I_I;I_'_I'_I_II_J_I-I T T
b MHH- I, . D - Iy
- Ty et sl gt [
fov 0 l 1“"""1""1 f ; . r iy YT X x |
S UL R TR TS T &
I . L L ) Sunl
ol . N 19
(= . o T i
o : L
R e e Al A e D L
o “‘r TR T TS Ty 'J".nvv-n«frm:f ‘-'-:.‘,‘,,n A RUATY YRTSTERINGE ] :| ‘:1‘ Th ‘m:. I o
| |
1 1 IIIIIIIIIIIIIIIIIIIIIIIIIIII.I -uu
2000 3000 4000 o500

A (R) z = 1.16276

8000

7500
MJD — 2450000



